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As it is written; ‘and his owner was warned and the ox killed’

Overview

777 M taught in a Xn»72 that if the owner was °pon or w7pn the ox after it
gored (and killed a person) the MW is An»n 7D (and the owner i1s 7WVD
229191). The X7n3 initially explains that there is a requirement that the status
of the ownership of the 71w must be the same from the time that it killed till
the time of 172 772v5. This is derived from the 109 of WX N PHYA2 79I
"3); it must have the same 0°%¥2 by 1n°» (which is indicated by the word
nnm) and by 172 77ava (which is seemingly indicated by the word *791m).
However no01n rejects this interpretation.

— YINTP IYYNIM INDT NN
It seems that we do not infer this requirement (that it is necessary that the
TT2 7TV AN are W) from the word 7M.
—11Y90 ON 9 19POY PYIYY MTYIA 299N KD TN INNY
For this word 7¥3M is not referring to the testimony that is required to
stone the ox”; but rather it is referring to the testimony that is required to
make the ox a >7¥m. How can we therefore interpret this 109 to teach us that the 70
(which is indicated by the word n»i7) and the 7772 77mvn (which is nrot indicated by the
word 7¥1M) have to be ™Mw?!
— 99D 9N NIT YIITH XIPT NOYDM NYN
Rather we derive this rule from the end of the P02 where it is written;
‘and the ox shall be stoned’. We derive that 1 172 770y 70" KXW 7Y from the
juxtaposition of the words 'n>»m [1°9v22]' (which refers to the n°» [the killing of the Mw])
and '5|770’ Twm' (which refers to the 172 77¥7) that in both instances we require the same
"Hya',

mdoIn proves that the s'X773 intention initially was to derive it fré)m PO MM
$291197 NID 17 9202 DPO> MWD RN 77997 NIYIY ¥ynwn 19

! 12,80 [D°wdwn] Nw. The P00 reads as follows: 22277 1AW K21 1923 7997 DIWHW 21NA RIT H31 MW DX
D2 15V 233 BP0 MPT AWK W WK

% See T2X) MR 7":10 and 7P°¥21 772 vON MK 1" " as to when this rule applies; whether by a an or a
VM, etc. W'Y,

? See 71 71"7 2,7 *"w, who seemingly follows this view. See the marginal commentary there.

* These are the 279 who saw the ox gore and kill the fourth time (after it was previously established that he
is a ¥mn).

> These refer to the 0°7v that testify that the ox gored the initial three times so he becomes a Ty1.

® This is (perhaps) what the "3 in the X3 is referring to.

7 The word 1922 refers to 'n»aY and po> Mwi' (the same 192 [see “Thinking it over]); see p"nuw.

¥ If we were not yet aware of the 7% of »po> MY, the question would have been phrased slightly
different; i.e. LYWDY ,2"1°271,'1°7 W3 ¥WNT "3 HPOY WM 200 XY
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And the expression of the subsequent question also indicates that the X7n3
was referring to '2po> 1w initially; for the X713 asks; why do you limit the
rule of W to 7n°n and 172 7Y (only), ‘but the words of pey =W are

written concerning the 17 9%3°?! This indicates that we were aware of the T
from 5po> Wi, which is why it was puzzling that the 71°% should be limited to (merely)
172 77IYa.

Summary
We derive the rule that X2 772 372¥ 70°7 XAnw 7Y from the words 19v22'

['noam] and '9po> '

Thinking it over
What would be the 17 if the 2°5va sold the W after the 717133, but before the
P72 mTvn?’

? See y19 1121 MO and -3 MR 7"910.
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